Table 1. Summary Statistics for Daily Returns in Asian markets:

January 1, 1995 to April 30, 2000

	country
	sample
	mean
	t-value a
(mean=0)
	St.dev.
	Skew-
ness a
	Ex-

Kurt a
	Q2(20) b

	Korea c
Taiwan

Thailand

Singapore

Malaysia

Indonesia


	1499

1481

1306

1335

1311

1311
	-0.0223

0.0148

-0.0953

0.0114

-0.0058

0.0087
	-0.41

0.39

-1.63

0.26

-0.10

0.16
	2.1223

1.4744

2.1145

1.6092

2.2215

2.0138
	-0.01

-0.19**

0.72**

0.52**

0.56**

0.34**
	2.69**

2.09**

3.56*

10.77**

26.80**

6.98**
	873.53

203.52
328.64
363.41
635.46
465.78


Notes: a  **,* Statistically significant at 1% and 5% level. b Distributed as (2(20) under the null hypothesis of non-serial correlation with lags up to 20. The five per cent critical value is 31.41.  c The number of samples differs in each other, depending on the number of holidays: for instance, Korea and Taiwan markets, but not the others, are open on Saturdays. 

Table 2. Tests for Structural Change of EGARCH without Trading Volumes. 

	Country                      d.f.         χ2(6)             p-value

	Korea          

H1: April 30, 1997            6          19.6              0.00

    H2: April 30, 1998            6          49.98             0.00

	  Taiwan          

H1: April 30, 1997            6          9.56              0.14

    H2: April 30, 1998            6          9.30              0.16

	  Thailand          

H1: April 30, 1997            6          32.70             0.00

    H2: April 30, 1998            6          38.98             0.00

	Singapore          

H1: April 30, 1997            6          30.48             0.00

    H2: April 30, 1998            6          29.72             0.00

	Malaysia          

H1: April 30, 1997            6          51.18             0.00

    H2: April 30, 1998            6          18.92             0.00

	Indonesia          

H1: April 30, 1997            6          100.98            0.00

    H2: April 30, 1998            6          104.32            0.00


Notes: The likelihood ratio statistic is 2(logLu-logLr), where Lr and Lu are the restricted and unrestricted likelihoods. 
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